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0RGLI\�WKH�WH[W�LQ�VHFWLRQ������
7KH�H[SUHVVLRQ�WR�EH�FDVW�PXVW�EH�HQFORVHG�LQ�SDUHQWKHVHV�RU�ZLWKLQ�FRQFDWHQDWLRQ�RU�UHSOLFDWLRQ�EUDFHV�DQG�LVWKH�H[SUHVVLRQ�VKDOO�EH VHOI�GHWHUPLQHG�LQ�WKH�FRQWH[W�RI�DQ�DVVLJQPHQW�WR�WKH�WDUJHW�W\SH� :KHQ�XVLQJ�EUDFHV��WKH�FRQWH[W�RI�WKH�EUDFHV�VKDOO�DOVR�EH�GHWHUPLQHG�E\�WKH�WDUJHW�W\SH�
$Q�H[SOLFLW�FDVW�EHWZHHQ�SDFNHG�W\SHV�LV�QRW�UHTXLUHG�VLQFH�WKH\�DUH�WUHDWHG�LPSOLFLWO\�FDVW�DV�LQWHJUDO�YDOXHV��EXW�D FDVW�FDQ�EH�XVHG�E\�WRROV�WR�SHUIRUP�VWURQJHU�W\SH�FKHFNLQJ���
0RGLI\�WKH�WH[W�LQ�VHFWLRQ�����
$VVLJQLQJ� WR�D�IL[HG�VL]H�XQSDFNHG�DUUD\�UHTXLUHV� WKDW� WKH�VRXUFH�DQG�WKH� WDUJHW�ERWK�EH�DUUD\V�ZLWK� WKH�VDPH�QXPEHU�RI�XQSDFNHG�GLPHQVLRQV��DQG�WKH�OHQJWK�RI�HDFK�GLPHQVLRQ�EH�WKH�VDPH� DQG�HDFK�HOHPHQW�LV�DQ�HTXLYD�OHQW�W\SH� $VVLJQPHQW�LV�GRQH�E\�DVVLJLQJ�HDFK�HOHPHQW�RI�WKH�VRXUFH�DUUD\�WR�WKH�FRUUHVSRQGLQJ�HOHPHQW�RI�WKH�WDUJHW�DUUD\��ZKLFK�UHTXLUHV�WKDW�WKH�VRXUFH�DQG�WDUJHW�DUUD\V�EH�RI�FRPSDWLEOH�W\SHV��&RPSDWLEOH�W\SHV�DUH�W\SHV�WKDW�DUH�DVVLJQPHQW�FRPSDWLEOH��$VVLJQLQJ�IL[HG�VL]H�XQSDFNHG�DUUD\V�RI�XQHTXDO�VL]HQRQ�HTXLYDOHQW�W\SH WR�RQH�DQRWKHU�VKDOO�UHVXOW�LQ�D�W\SH�FKHFNFRPSLOHU HUURU��6HH�6HFWLRQ�������(TXLYDOHQW�W\SHV�«$Q�DUUD\�RI�ZLUHV�FDQ�EH�DVVLJQHG�WR�DQ�DUUD\�RI�YDULDEOHV�KDYLQJ�WKH�VDPH�QXPEHU�RI�XQSDFNHG�GLPHQVLRQV�DQG�WKH�VDPH�OHQJWK�IRU�HDFK�RI�WKRVH�GLPHQVLRQV��DQG�YLFH�YHUVD��$VVLJQPHQW�LV�GRQH�E\�DVVLJLQJ�HDFK�HOHPHQW�RI�WKH�VRXUFH�DUUD\�WR�WKH�FRUUHVSRQGLQJ�HOHPHQW�RI�WKH�WDUJHW�DUUD\��ZKLFK�UHTXLUHV�WKDW�WKH�VRXUFH�DQG�WDUJHW�DUUD\�HOHPHQWV�EH�RI�DVVLJQPHQW�FRPSDWLEOH�W\SHV�«$ G\QDPLF�DUUD\�FDQ�EH�DVVLJQHG�WR�D�RQH�GLPHQVLRQDO�IL[HG�VL]H�DUUD\�RI�DQ HTXLYDOHQW� FRPSDWLEOH�W\SH��LI�WKH�VL]H�RI�WKH�G\QDPLF�DUUD\�GLPHQVLRQ�LV�WKH�VDPH�DV�WKH�OHQJWK�RI�WKH�IL[HG�VL]H�DUUD\�GLPHQVLRQ��8QOLNH�DVVLJQ�LQJ�ZLWK�D�IL[HG�VL]H�DUUD\��WKLV�RSHUDWLRQ�UHTXLUHV�D�UXQ�WLPH�FKHFN�WKDW�FDQ�UHVXOW�LQ�DQ�HUURU� DQG�QR�RSHUDWLRQ�ZLOO�EH�SHUIRUPHG�

0RGLI\�WKH�WH[W�LQ�VHFWLRQ�����±�8QGR
V�/50�����
reg b[3:1][3:1]; // OKerror: assignment incompatible element type 
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7R�EH�FRSLHG�RU�FRPSDUHG��WKH�W\SH�RI�DQ�DJJUHJDWH�H[SUHVVLRQ�PXVW�EH�DVVLJQPHQW FRPSDWLEOHHTXLYDOHQW� 6HH�6HFWLRQ������ � $VVLJQPHQW�FRPSDWLEOH(TXLYDOHQW W\SHV��


